Exercicios VC

Parte 4






Figure 3.14 shows a lawn-sprinkler arm viewed from above. The arm rotates about O at con-
stant angular velocity w. The volume flux entering the arm at O 1s Q. and the fluid is incom-
pressible. There 1s a retarding torque at O, due to bearing friction, of amount —7 K. Find an ex-
pression for the rotation w in terms of the arm and flow properties.
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Modity Example 3.14 so that the arm starts from rest and
spins up to its final rotation speed. The moment of inertia
of the arm about O is [,. Neglecting air drag. find dw/dt

and integrate to determine the angular velocity w(7), as- @ Absolute outlet
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